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0.9 or better
—10.1 or better
Correct scales

12 points correctly plotted

both branches with correct shape

Graph does not cross the y-axis
Any integer = 1
Correct ruled line from -3 to +3
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Tangent drawn with gradient ~ 2
Linear eqn. in x and y with gradient 2

= their intercept
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—3to 3for x, and —11 to 2 for y possible
P21t for 10 or 11 correct (acc. is 1 mm)

P1ft for 8 or 9 correct

Acc. }é small square, correct shape, not ruled

SC1 for line with gradient of 2 or passing
through (0, -5) but not y = 5.

i.e. correct multiplication to remove fraction
www2

Parallel by eye to y = 2x—5

within 1 mm, dep on linear eqn in xand y
()]
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Correct scales

16 correct points
smooth curves through 14 points
Tgnoring x = = 0.3
Graph does not cross the y-axis
045 <x <05

24 <x<-21
=05 <x<-04,
03 <x<04

#(x) = 3x + 3 correct, ruled, full range
(1mm acc at ends)

Getscloser o

Answer rounds to 3.00

-3 to 3 for x, and -10 to their max

P2ft for 13 to 15 correct  (in correct square)
Pift for 10 to 12 correct

Correct shape, not ruled, within % small square
(curves could be joined)
Indep but needs 2 ‘curves’

1£ 0 scored, SCI for evidence of fix) = - 4

Allow SC1 for any ome of correct but short,
gradient of 3, y — intercept 3 on sloping line,
“good’ frechand

Any correct comment isw

dep on g{x) correct or freehand






